RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Enrollment - November)

RESOLUTION NO. 07-706

1	WHEREAS,	the Tohono (o'odham Council has reviewed the recommendations of the Enrollment					
2		Committee in accordance with Section I of Article VIII of the Enrollment Ordinance,						
3		Ordinance No. 05-81, and has made a final determination that the application of the						
4		following applicant for membership in the Tohono O'odham Nation be approved:						
5		ARTICLE II -	MEMBERSHIP					
6 7		SECTION 1(b	ALL CHILDREN BORN TO RESIDENT MEMBERS					
8		2646-GV-07	Carlos, Elahun					
9		2647-GV-07	Lopez, Abraham J.					
10		2648-GV-07	Miguel, Tasean S.					
11								
12		2287-H-07	Anselmo, Xzavier J.					
13		2304-H-07	Ortega, Maleena J.					
14								
15		2426-GB-07	Osegueda, Strong Bear J.					
16								
17			Hendricks, Vito K.					
18		3881-GA-07	Enos, Devaughn					
19		2205 D 05	Downstt Compaths A					
20		2385-P-07	Barrett, Samantha A.					
21 22		2461 60 05	Lewis, Brett E.					
23			Frank, Dion Lamarr					
24		2303-30-07	11um, Dion Lumuri					
25		4205-B-06	Lewis, Princess Jondalynn					
26		4250-B-07	Hughes, Dreamer Marie Lee					
27		4261-B-07	Lewis, Alexis Nichole					
28		4264-B-07	Matthews, Haratio Ray					
29		4265-B-07	McDevitt, Noah R.					
30		4267-B-07	Molinar II., Manuel E.					
31		4268-B-07	Torres, Natalia E.					
32								
33		2015-ST-07	Orduno, Arizona Tohono C.					
34		2016-ST-07	Campus, Ryan					
35		2017-ST-07	Lopez, Sonny T.					
36			Widener, Cade R.					
37		2019-ST-07	Donahue, Jayden R.					
38		2020-ST-07	Ochoa, Elijah					
39		2270 CW 06	Crow, Michelle Rene'					
40 41		3480-CK-06						
42		3431-CK-07	· · · · · · · · · · · · · · · · · · ·					
43		3470-CK-07						
44		3474-CK-07						
45		3475-CK-07	· · · · · · · · · · · · · · · · · · ·					
46		3481-CK-07						
47		3484-CK-07	Valisto, Princess					
48		3485-CK-07						
49			Tawyesva-Ortiz, Samantha L.					
50	1		JoseMaria, Aaliyah, Ann					
51		3490-CK-07						
52		3491-CK-07	Mackey, Aros Jett					

	RESOLUTION NO. <u>07-706</u>
	(Enrollment - November)
	Page 2 of 3
1	ARTICLE II - MEMBERSHIP
2	SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS
3	
4 5	3492-CK-07 Mackey, Emry 3493-CK-07 Mackey, Alea
1 2 3 4 5 6 7	Jajj-Ch-V/ Muchcy, Alca
7	2565-SX-07 Burrell-White, Larenz Jose
8 9	2566-SX-07 Bell, Savanna Lanae Patricio
10	2567-SX-07 Juan, Mariah Alyssa Christy 2571-SX-07 Francisco, Briseis R.E.
11	2572-SX-07 Jose, Ryan Virgil
12	2574-SX-07 Gomez, Jaeda Graciella
13	NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicant
14	is eligible for enrollment as a member of the Tohono O'odham Nation under Section
15	1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation, and that
16	their application is approved, as herein above indicated.
17 18	BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono
19	O'odham Nation reduce this final determination in writing regarding each of the foregoing applications for enrollment in accordance with Section 1(a) of Article XIII
20	of the Enrollment Ordinance; give notice of this Council's determination in
21	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place the
22	names of each applicant upon the membership roll of the Tohono O'odham Nation
23	in accordance with Sections 2 and 3 of Article X of the Enrollment Ordinance.
24	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the <u>05TH</u> . Day
25	of NOVEMBER, 2007 at a meeting at which a quorum was present with a vote of 2,534.5 FOR; -0-
26	AGAINST; -0- NOT VOTING; and [01] ABSENT, pursuant to the powers vested in the Council by
27 28	Section 1 of Article II and Section <u>1(h)</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting
29	Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16
30	of the Act of June 18, 1934 (48 Stat. 984).
31	
32 33	TOHONO O'ODHAM LEGISLATIVE COUNCIL
34	
35	Luch Jose
36	Verlon M. Jose, Legislative Chairman
37	8 day of Mive mby, 2007
38	
39	
40 41	ATTEST:
42	$A \cdot A_{A}$
43	Jun Jag
44	Lucille Lopez, Acting Legislative Secretary
45 46	05 day of
46	day of $7000000000000000000000000000000000000$

	RESOLUTION NO. <u>07-706</u> (Enrollment - November)
	Page 3 of 3
1 2	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham
3	Nation on the day of Movember, 2007 at 1. 50 o'clock, 1. M.,
4	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
5	upon his approval or upon his failure to either approve or disapprove it within 48 hours of
6	submittal.
7	
8	TOHONO O'ODHAM LEGISLATIVE COUNCIL
9	
10	1////
11	Ven ff
12	Verlon M. Jose, Legislative Chairman
13	
14	\sim 1
15	APPROVED on the 69 day of Nubu, 2007
16 17	TAPPROVED On the, 2007
18	[] DISAPPROVED at 3.35 o'clock, .M.
19	
20	$X \setminus I \longrightarrow A$
21	
22	NEW NORRIS, JK., CHAIRMAN
23	TOHONO O'ODHAM NATION
24	
25	
26	Returned to the Legislative Secretary on the 9 day of
27	Returned to the Legislative Secretary on the $\frac{99}{2}$ day of
28 29	
30	, 2007, at
31	
32	Sum Ish
33	Lucille Lopez, Acting Legislative Secretary
34	
35	
36	
37	
38	
39	
40	
41	

 ACTION: ENROLLMENT - NOVEMBER

MOVED: COUNCILWOMAN SANDRA ORTEGA SECOND: COUNCILWOMAN ETHEL GARCIA

DATE: NOVEMBER 05, 2007

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL (Absent)	158.45	x			
316.9	(Roberta Harvey) (Present) 2. FRANCES G. ANTONE (Absent) (Vernon Smith) (Present)	158.45	X			
CHUKUT KUK	1. ETHEL GARCIA	132.40	x			
264.8	2. VERLON M. JOSE	132.40	х			
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95	X			
227.9	2. CYNTHIA E. MANUEL ()	113.95	x			
GU VO	1. GRACE MANUEL	99.60	x			
199.2	2. MICHAEL FLORES	99.60	X			
HICKIWAN	1. MICHELLE ORTEGA	86.00	x			
172.0	2. SANDRA ORTEGA	86.00	x			
PISINEMO	1. CHESTER ANTONE	91.20	x			
182.4	2. GERALD FAYUANT	91.20	x			
SAN LUCY	1. LORRAINE EILER	90.55	x			
181.1	2. GLORIA RAMIREZ	90.55	х			
SAN XAVIER	1. FELICIA NUÑEZ	98.25	x			
196.5	(Adam P. Andrews) 2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	x			
SCHUK TOAK	1. FRANCES B. CONDE (Absent) (Frederick Jose) (Present)	77.30	х			
154.6	2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	х			
SELLS	1.KIMBERLY LISTO	222.35	х			
444.7	2.EVELYN B. JUAN MANUEL	222.35	X			
SIF OIDAK	1. WAVALENE ROMERO	97.20	х			Х
194.4	2. MARY LOPEZ	97.20	x			
	TOTAL	2,534.5	2,534.5	-0-	-0-	[01]